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Note: if a 7712 becomes a y71xn, he must complete the period of my1¥— which doesn’t count towards his m1r2— and then shave, after
which he must complete the 712, If there are less than 30 days remaining, he must complete 30 days, in order to have 7y 51722
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I o mwn: embedded nyym
a ifhesaid: "I am a 71 and a 11 when I have a son”
i ruling: he begins counting his own and, when he is done (if he has a son in the meantime) begins counting a 24
b but:if he said: "l am a 7’11 when I have a son and a "
i ruling: he interrupts his own when his son is born, counts those, and then, after 30, completes his own
1 note: entire period considered one mvm and, if he becomes nn ®nov during that time, entire period "lost"
¢ related question (837): if he vows a m7m beginning in 20 days and a 100-day m~m from now — does "100" begin now?
i Lemmal: since the 100 won't complete within 20, they don't begin OR
ii ~ Lemma2: since there will be enough time (80 days) afterwards for 9w 5713, they begin (and are interrupted)
iii Note: why not ask about a normal (30-day) m°n (in place of the "100")?
1 Answer: our question was the 2°¢in a chain of 3:
(a) 1:if he says "m7nin 20" and an immediate m71 (30) - does it begin then?
(i) con:Ifit doesn't - since there's not enough time for 7pw 51773
(b) 2:if he says "mvmin 20" and an immediate m7°11 of 100 — does it begin?
(i) Pro: if it does — since there is enough time for 1w 573
(c) 3:if he says "m7nin 20" and an immediate 05y n11°1 — does it begin?
(i) pro:if it does — since the later ny1’1 could be retracted
(d) 4:if he says "Pnwnw mrnin 20" (and then an immediate m7°1) — does it begin?
(i) Con: since he can't retract it
(e) 5:(possibly unrelated question): what if he says "I am like n”p7n on 9781 1" — is that valid?
2 Solution: to #2 — it begins immediately
d  Question: what if he becomes &nv during the m’1 associated with his son's birth?
i jpr 77 entire period is one long M7 and it cancels
ii 57 two separate n»7m - doesn't cancel
e  parallel dispute: what if he becomes 8nv during a period of ny1x in the middle of his m>11 (which doesn't count)
i pnr /7 cancels mn — entire period seen as one
ii 57 doesn't cancel mvm — each period is seen as separate
iii  justification: if we only had 1¢t dispute, R”10 that j3m 1 agrees in 2" case; n»1¥ and M1 are distinct categories
1 and:if we only had the 2nd dispute, X"10 that 5 would agree in the 1% (invert reasoning above)
f  question: what if the 9m became xnv during his "extended days" for growing hair (see note)
i 37.doesn't cancel — even according to jam» 1 — since he has finished his nyym
ii  SKmmw. cancels — even according to 5™ — since it's all related to original my1m
g ruling: R7on 11 — all agree that if he didn't shave before o7 np» 1, he has "no solution”
i Note: this doesn't accord with either 8" or 1339 who disagree if nn%in is indispensable (X™ — it is)
1 Answer: it means, he has no solution to fulfill m%» mxn properly, since the j19p was already offered
h  Ruling:ov "1 —a 111 whose time is completed but hasn't yet shaven, is only punished for nrmv, not for 1” or nn%n
i Challenge: why distinguish — all 3 of them are defined by same phrase (vv. 1-3)
1 Answer: v. 4 indicates that nkmv is a violation as long as he has 111 WX
2 Rejection: explicit Rn»1a ruling that he is liable for any of them equally
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